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G.SRT.D.11: Law of Cosines 1

In AFGH, f=6,9 =9, and mZH = 57. Which 8 Intriangle ABC,a=2,b =4, and mZC =60. The
statement can be used to determine the numerical length of side C is
value of h? 1) 2+/3 2) 2 3) A3 4 247
1) h*=6>+9%-2(9)(h)cos57°
2) h*=6>+9-2(6)(9)cos57°
3) 6° =9 +h’—2(9)(h)cos57° 9 InAABC,a=6,b=12 and ms/C = 60. What is
4) 9> =6"+h*-2(6)(h)cos 57° the length of side ¢ to the nearest integer?
1) 52) 10 3) 11 4) 20
. 1

In AABC, if a=4,b =3, and cosC = —7. What 10 In ADEF, ifd = /3, & =4, and m£F = 30, the
is the length of C? length of f is
1) 7 2) 13 3) 37 4 19 1) 7 2) 17 3) 7 4 3

1 ) 11 InAABC,a=1,b=1,and mzZC =120. The
In ACAT,a=4,c=5,and cosT = 3 What is the value of ¢ is
length of 17 )1 2) A2 3) 25 4 3
InAABC,a=8,b=9,andCOSC=2. Find c. 12 InAABC,a=3,b=35,and mzZC = 120. Find the

3 value of c.

1 . 13 Intriangle ABC,a =5,b =8, and mZC = 60. Find
In AABC, cosC =-0.2,a=8,and b = 10. Find 14 InAABC, a=3,b=8, and msC = 60. Find the
the length of side c. length of side c.
In triangle ABC, a = 2, b = 4, and m/C = 120. 15 InAABC,a=6,b=10,and msC = 120. What is

What is the length of side c?

1) A7 2) 247 3) 28 4) 447

the length of ¢?
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089610siii

01971 1siii
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